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(�)� äå�æ³ç% 
äå
  n=èé�����% 

   m=¥È°���% 
   T=��?�ê��% 
   S=��?�êëì% 
+, n)íî�æ�ïð§ m,T,S� nª«Ïñ% 

 
(�?�Tì S�æòóÕ�……) 

 
<<TæÕÖ>> 
ôõö�÷ø�����ùú�ûüý����,���Y�þ÷ø�

���1°(T÷ø 2)�µÔ��,���Y��xþ÷ø��1°(T
æx/)�tþàá��¥È°(mæ÷ø 1)% 
¼+_�æ T=4Lèé��U 
,)3W  T=4+2(n-1)-2m=2n-2m+2 

 
<<SæÕÖ>> 
+,�����þ' S÷ø�L¥�È�¯�	U2���¥È°�þ
'¥�Å°
����,) Sþ
��% 
��è�ñ�3W  S=4n-4m 

 
(Ó, mæ�³ç�jòx�óÕ�……�G������) 

 
<<mæÕÖ>> 
[step1�����	��G����Y@Á�� mæ] 
� n=k2=g*h  g<k<hy g,h,k�Ò,��� 
û�G k*k����Y�m=(k-1)2=k2-2k+1=n+1-2k 
û�G g*h����Y�m=(g-1)(h-1)=gh-g-h+1=n+1-g-h 

 
���IxS� k=gh1/2<(g+h)/2 
�2 2k<g+h!(k-1)2>(g-1)(h-1)  

 
�����	��G���Y@Á�� mæ% 

 
[step2ôõ nx·�����Y] 
2�x·�����Y�¦���Á�����l�¼§���èé�

�øÓý�� ø!"��l#æ$%;ø 1��&Wý���b�'
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2¼�*�+,-øèé��.|�� ø!"��èél#æ$%;

ø 1��&W¼/�G��������Lµ¶�U% 

 
 

[0� step1&2] 
���1�ñ�ÕÖ��¶2�
 
» k=[n1/2]   []Äª3456 
(1)  û  n=k2 

�  mmax=(k-1)
2=n-2k+1 

(2)  û  k2<n<k2+k+1 
�  mmax=(k-1)

2+(n-k2)-1=n-2k 
(3)  û  (k+1)2-k-1<n<(k+1)2 

�  mmax=(k-1)
2+(n-k2)-2=n-2k-1 
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m(A1,A2,A3,……,An)  
S�
<Gq> q=0~n 

G0=0+0i 

1.
� û  Ak+1=1           �  Gk+1=(Gk+1)*i+1 

2.
� û  Ak+1=2           �  Gk+1=Gk+2 

3.
� û  Ak+1=3           �  Gk+1=(Gk+1)*(-i)+1 

 
û Gn=0+0i=G0Y�Äªcd^�ñ�]Wý°���)�X����
�}�D%(2yû i{j"Gi{Gj) 
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­�Sôrs 

A.
��<®¯ Mathematical Puzzles & Diversions   °±�² 

B.
�

POLYOMINOES        the Math. Association of America 
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1 1 
2 1 
3 2 
4 5 
5 12 
6 35 
7 107 
8 363 
9 1248 
10 4460 
11 16094 
12 58937 

 
���
�i�Ô³´(n=5) 
--------------------------------DOS¬´-------------- 
5 
 n=1 m=0 aaaa 
 n=2 m=0 baabaa 
 n=3 m=0 caababaa 
 n=3 m=0 bbaabbaa 
 n=4 m=0 cbaabbabaa 
 n=4 m=0 cabaacabaa 
 n=4 m=0 caacaabbaa 
 n=4 m=0 bbbaabbbaa 
 n=4 m=1 babababa 
 n=5 m=0 ccaababbabaa 
 n=5 m=0 cbbaabbbabaa 
 n=5 m=0 cbabaacbabaa 
 n=5 m=0 cbaacaacabaa 
 n=5 m=0 cacaabacabaa 
 n=5 m=0 cabbaabcabaa 

n=5 m=0 cbaabcaabbaa 
n=5 m=0 bcbaabbabbaa 
n=5 m=0 caacbaabbbaa 
n=5 m=0 bbbbaabbbbaa 
n=5 m=0 caacaacaacaa 
n=5 m=1 cabababbaa 

total: 21 

Ë
aÄª 1�bÄª 2�cÄª 3 
 total)� n=1W n=5��@��� 
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